2021 B THIHESE (B +)

# 1 2 % 3 [l #4le] ~ g |7

ERL | K 4 X 64 z?él&(ﬁ) 8 Z%EI. go 118 gg? ) 12)?7% . (ﬁ) fj:'; 4 f]f ! i"j A
Abe=g | K AVh | Abe=2 | K AVM | Abe=d | K AVE | AbE=) | KAV

1| faH Bk F %) 74 47 75 50 80 44 77 50 147 | 74 |76.5 | 80
2 | K &R (FEX) 76 43 76 49 79 49 79 46 144 | 76 |77.5 | 79
3| wHE EE | @HIK) 76 43 80 | 35 79 | 49 77 | 50 | 142 | 76 |78.0 | 80
4 | SURE— (FLEX) 78 43 77 50 78 48 141 77 777 | 78
5 | HHEERE | WR)IK) 73 50 79 41 79 49 80 42 141 73 |77.8 | 80
6 | B HE i X) 77 38 79 41 83 29 79 46 125 77 179.5 | 83
T BRSO R X) 76 43 =NV 82 37 80 42 122 | 76 [79.3 | 82
8 | /IR it (/ X) 79 30 76 49 FHIKR G 80 42 121 76 |78.3 | 80
9 | KE = e X) 77 38 82 24 79 49 83 30 117 77 180.3 | 83
10 | BEEHE WL O7EIX) 79 30 79 41 80 44 83 30 115 79 180.3 | 83
11| 7k Thin (HEFEX) 79 30 84 8 79 49 83 30 109 | 79 [81.3 | 84
12 | B\ E (k. X) 73 50 78 43 86 13 FHIR G 106 73 |79.0 | 86
13 | BH wmHE | RESAX) | 80 18 77 47 81 40 105 | 77 [79.3 | 81
14 | #FEHLH (HEAEX) 79 30 86 0 82 37 81 37 104 | 79 |82.0 | 86
15 | i e (/A X) 74 47 83 17 FHIR G 82 35 99 74 179.7 | 83
16 | B (517 (%7 1<) 78 34 79 41 85 20 84 24 99 78 |81.5 | 85
17 | EFHEE (/ X) 80 18 80 35 80 44 98 0 97 80 |84.5 | 98
18 | W fEL | (REFRK) | 81 10 83 17 82 37 80 42 96 80 |81.5 | 83
19 | [hmE g e X 75 45 87 0 81 40 86 11 96 75 |82.3 | 87
20 | R A (HHEX) 85 0 77 47 84 24 84 24 95 77 |82.5 | 85
21 | EHE EAT U X) 73 50 HEbte 80 42 92 73 |76.5 | 80
22 | PATH—RB (AR X) 81 10 82 24 83 29 81 37 90 81 |81.8 | 83
23 | Hib B (FHIX) 84 0 82 24 83 29 82 35 88 82 |82.8 | 84
24 | TN iR (A X) 78 34 82 24 94 0 83 30 88 78 |84.3 | 94
25 | PR fRsE e X 79 30 83 17 85 20 82 35 85 79 [82.3 | 85
26 | il OpERE (X 79 30 82 24 84 24 83 30 84 79 |82.0 | 84
27 | R % G X) 79 30 et 78 48 78 78 |78.5 | 79
28 | BID (HRHLX) 83 17 86 13 79 | 46 76 79 |82.7 | 86
29 | 7EEE WK (AR X) 84 0 84 8 80 44 84 24 76 80 |83.0 | 84
30 | W HE (f X) 75 45 88 0 85 20 86 11 76 75 |83.5 | 88
31 | Ak =R (P 1X) 78 34 81 31 88 4 86 11 76 78 [83.3 | 88
32 | A EH (EBHIX) 80 35 81 40 88 0 75 80 |83.0 | 88
33 | I K (FHEX) 82 37 82 35 72 82 |82.0 | 82
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M| R wmHE () 79 30 79 41 IR Y 71 79 |79 79
3B | B RZ (8 X) 84 0 80 35 85 20 86 11 66 80 |83. 86
36 | KIS (FEX) 80 18 77 47 65 77 | 78. 80
37 | PR A (&1 1X) 89 0 85 3 83 29 83 30 62 83 | 85. 89
38 | IEIDFEKER (FHEX) 79 41 85 20 89 0 61 79 | 84. 89
39 | ®E ME (B X) 77 38 83 17 88 4 91 0 59 77 | 84. 91
40 | BHE &KX (B X) 82 3 83 17 82 | 37 | 87 4 58 82 |83. 87
41 | BMR Bk (LX) 79 30 85 3 84 24 57 79 |82 85
42 | AH At (Fk ) 90 0 81 31 87 7 85 17 55 81 |85. 90
43 | B HIB (HEAEX) 79 30 87 0 89 0 84 24 54 79 |84 89
44 | )1l EHA (hX) 76 43 87 7 87 4 54 76 | 83. 87
45 | ok LT FHEK) 80 18 89 0 82 35 53 80 |83. 89
46 | HFiE E— G X 80 18 83 17 TR Y 85 17 52 80 |82. 85
47 | EE (& X) 79 30 84 8 86 13 51 79 |83. 86
48 | A HETIKER (hX) 81 10 83 29 86 11 50 81 |83. 86
49 | R HEVS (/ X) 84 0 86 0 84 24 84 24 48 84 | 84. 86
50 | A& fn (/ X) 86 0 88 0 82 37 86 11 48 82 | 85. 88
51 | g EHE (%) 80 18 83 17 86 13 88 0 48 80 | 84. 88
52 | A4 M () 85 0 7T | 47 47 77 | 81. 85
53 | mi)ll JKiR | URESAIX) | 86 0 79 46 46 79 | 82. 86
54 | FIE BB (AR [X) 81 10 81 31 88 4 87 4 45 81 | 84. 88
55 | #EH 5% (BRX) 81 31 86 13 44 81 |83. 86
56 | MR Mz (f X) 76 43 93 0 AR 43 76 | 84. 93
57 | ARM PERY (CNEY 81 31 87 7 87 4 42 81 |85. 87
58 | MEEE ME R KX) 79 30 84 8 FHIR Y FHIK G 38 79 |8l1. 84
59 | AMfRHE HE . X) 7 38 38 77 |17 77
60 | 0 FEpk R X) FHIR S 98 0 82 37 90 0 37 82 | 90. 98
61 | fefk Bl | (RESBKX) 89 0 82 37 37 82 | 85. 89
62 | Bk HEST ()N X) 83 0 82 24 86 13 37 82 |83. 86
63 | [A  F (A X) 78 34 FHIR 34 78 | 78. 78
64 | KB —HK (fX) 81 31 HEME FHIK G 31 81 |8l. 81
65 | #5E  SLB ()1 X) e 81 31 31 81 |8l1. 81
66 | L —F VY 85 0 94 0 91 0 84 24 24 84 |88. 94
67 | FEYT LT R K) 83 0 84 24 BN e 24 83 |83. 84
68 | KA BA (LX) 82 24 EL:pe 24 82 | 82. 82
69 | FiE A (4R X) 85 0 87 0 88 4 85 17 21 85 | 86. 88
70 | FE AIZ (bt %) 88 4 85 17 21 85 | 86. 88
1| R Rie | (RESBEX) | 84 0 87 0 85 20 97 0 20 84 |88. 97

2/4R=2




72 | AR ER Gk X) 87 0 89 0 85 20 20 85 | 87. 89
73| IR (hk X) 80 18 89 0 18 80 |84. 89
4 A F— (A X) 80 18 18 80 | 80. 80
75 | HRERR (Fk %) 87 0 93 0 85 17 17 85 |88. 93
76 | RPGEE—IR (LX) 84 0 88 0 85 17 17 84 | 85. 88
| EE R Gk 1X) 86 0 83 17 IR Y 95 0 17 83 |88. 95
78 | mil IET (FLEX) 81 10 85 3 90 0 88 0 13 81 | 86. 90
79 | HRR—ER Gk 1X) 81 10 85 3 89 0 90 0 13 81 |86. 90
80 | il IR (LX) 88 0 89 0 93 0 86 11 11 86 | 89. 93
81 | kot IEF (&RX) 81 10 88 0 93 0 106 0 10 81 |92 106
82 | MI'F f2H (#BHLX) FHIR G 84 8 8 84 |84. 84
83 | Al RIR (B LX) 89 0 85 3 88 4 89 0 7 85 | 87. 89
84 | /NII Ty | (RESEK) | 82 3 85 3 96 0 93 0 6 82 |89. 96
85 | AfH mi& | GREIIK) 90 0 100 0 88 4 90 0 4 88 | 92. 100
86 | HHF FnfA (&RX) 87 0 88 4 4 87 |87. 88
87 | HHBETHR () 82 3 96 0 97 0 90 0 3 82 |9l. 97
88 | AMRHEM | (REr8X) | 82 3 96 0 95 0 91 0 3 82 |9l. 96
89 | A Fnfd G X) 86 0 85 3 TR Y 3 85 | 85. 86
90 | #ME FX (/ X) 88 0 85 3 3 85 | 86. 88
91 | FEHE IESE (#HX) 82 3 3 82 |82. 82
922 | ik & (#BHLX) 82 3 3 82 |82. 82
93 | /MK FL— (ERHLX) 83 0 90 0 101 0 88 0 0 83 |90. 101
94 | VEfi  EEKE (8 51X 90 0 TR Y 90 0 0 90 | 90. 90
95 | g E (LX) 95 0 FHIR 92 0 91 0 0 91 |92. 95
96 | L E B ) 91 0 0 91 |91. 91
97 | AR FER | MER)IIK) 91 0 0 91 |91. 91
98 | /AR FRA 5 X) 84 0 96 0 FHIR Y 92 0 0 84 | 90. 96
99 | AR HEAT (hk %) FHIR S FHIR FHIR Y 92 0 0 92 | 92. 92
100 | /NEP fRZ (LX) 84 0 FHIR 92 0 0 84 |88. 92
101 | HH K (B HLIX) 87 0 HFRIRY: 94 0 0 87 190. 94
102 | @A @A | WRESBK) | 86 0 86 0 96 0 95 0 0 86 | 90. 96
103 | Klfr Wl (8 JL1X) 94 0 HRIR HHIR G 95 0 0 94 | 94. 95
104 | HEHME (HEEK) 86 0 96 0 96 0 97 0 0 86 |93. 97
105 | /e A () 90 0 109 0 98 0 0 90 |99. 109
106 | A& H& (B 7-1X) 84 0 FEHE FHIR Gy 99 0 0 84 |91. 99
107 | 5% IEfE (&R X) 88 0 92 0 93 0 101 0 0 88 |93. 101
108 | =3 MHE (hk X) 88 0 89 0 97 0 104 0 0 88 | 94. 104
109 | PEH Kl | HRIIX) 95 0 97 0 104 0 0 95 | 98. 104
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110 | fBED 3R | (WAR)IX) 83 0 92 0 et 0 83 |87.5 | 92
111 | #ex REAT | RETHK) FHTR Y 0 1000 | - 0
112 | A% &— ® ) 84 0 90 0 91 0 0 84 |88.3 | 91
113 | Eff He— (FEX) 88 0 92 0 0 88 [90.0 | 92
114 | g HE (LX) 94 0 0 94 194.0 | 94
115 | &l Flk (M X) 89 0 89 0 96 0 0 89 |91.3 | 96
116 | &)1 1ER (#BHLX) 99 0 0 99 199.0 | 99
117 | [ m X) 86 0 4 H K 0 86 [86.0 86
118 | 75 W FBHIX) 87 0 92 0 0 87 189.5 | 92
119 | HfE £ (e X) 88 0 92 0 0 88 190.0 | 92
120 | W FW | GRESHK) | 84 0 95 0 0 84 |89.5 | 95
121 | RE EE | BRErax) | 87 0 101 0 0 87 194.0 | 101
122 | % B (FFHEX) 110 0 111 0 0 110 |110.5 | 111
123 | A FIE (LX) 86 0 Ve 0 86 |86.0 | 86
124 | A ER (B3 RIX) 87 0 HHTRY: 0 87 |87.0 | 87
125 | gk i, (FLEX) FHIR G 0 1000 | - 0
126 | &I ] (/ X) 83 0 0 83 |83.0 | 83
127 | Il IE8L (R X) 86 0 0 86 |86.0 | 86
128 | &1 HE (hX) 86 0 0 86 |86.0 | 86
129 | Sk KEH (FZEX) 86 0 0 86 |86.0 | 86
130 | REF AL | #HRIIK) 89 0 0 89 189.0 | 89
131 | ZpE B (ERHLX) 95 0 0 95 |95.0 | 95
132 | SOF s (e X) 100 0 0 100 [100.0 | 100
133 | FEAS (&RX) M 0 1000 | - 0
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